ER#REZ1--A¥=17 )l | Instructions for Use -
IP/IPS/GP/ IGP Qcﬂ? e‘rfppoeJ[eChnlk

1. 22 LOER 1. Safety notes
1.1 T>¥AR—LEESR 1.1 Installation and startup
O—5U—t>bid, BET3TATORSMIETELT, HE0m3ENg  |he rotary sensor is to be placed in service only by
DOHDBETBURELBOET . technical pers_onnel under observance of all relevant
1SR M= LFRCRDRNES, R EEEOBREENCRDET, safety regulations. o _ o
O—4U—t  HORBEEEHEDESICAS EMESRET BIhIC Non-observance of the installation istructions will void
PERTRTORLHRL. EHICRTTZLENBDET. any warranty or liability claims.
All personal protection measures in case of a sensor
defect or failure must be taken before startup.
1.2 BRMIRE 1.2 Electrical connections
BESNILAHEEEL, RAUSNIERICOHERTEET, The specified supply voltage is to be applied only at the
BREOADYUTCEDR\E, F/\f D BESN, RENRDNET, terminals provided.
Non-observance of the pin configuration will result in
destruction of the device and loss of warranty.
1.3 7IVr—>3 0B ‘ 1.3 Limitations for application
YHORRBE, MEFLSMEFHERMETIRBEINTEST, BFHFEESE.  Qur products are regularly not approved for aeronautic
H(C ABC BIZORE TORRIBHASTNTNEE A, or aerospace applications and are not allowed to be
HICOVTIE. AIBRECEIZEL, used in nuclear or military, in particular ABC-relevant

applications.
For more information see our Terms and Conditions.

2. {8 &

2.1 EEHRE 1/ Terminal plan

THECESW:
| § ! mo 1pA AEBRELTOEBIIREFTTHIL !

2B F
1A H—o— Pl_eas_e note: o
3C 1 Circuit as voltage divider free of load!

Upnex 42V ¥ EE05H35—TIIC}. S—IVRT—TLOERE
HHHLET,
DIN EN 61010 T1 (C#EMUT=IREI S X 111 Using cables with longer lengthes we recommend the use of shielded
Protection class Ill according to DIN EN 61010 T1 cables.

2.2 OV FE>DEE |/ Connector pin assignment

IPS / IGP
D@Eé: ﬂ
@AE€ i
c @a “@
B
A B C

HAESD cw T2l cew DAL, ORI 1/A & 3/C DREICKDERICHETETET .
The Gradient of the output signal cw or ccw is arbitrary by inverting of the connectors 1/ Aand 3/ C.

(e SiEE / Included in delivery:

IPS /IGP: OO0 45 / Plug CANNON CA-08-COM-E-16S-1S-B

WR7OtHYU / Recommended accessories:

IP: ARU% / Plug EEM 33-70 (IP67) #-5- / tdEEM 33-72 (IP40, 7>4)L  / Right-angled plug)

Page 1



ERHEZ1--Av=17 )l | Instructions for Use hovotechnik
IP/IPS/ GP/ IGP

3. Wb EE { Mounting instructions
31 \OS>)oEE / Housing fixation
IP/IPS/IGP GP
935>7 [ clamp F Gehiuse fa wl
oS>0

|
o

2 /

"

(T T 1

\‘\‘b

10

M4 (3 x 120°)

ACZRFFEIA
IP: 935> 2-3-31 £ M4 x 10 & 3 HIDEA. HFE/DMAT MLD 120Necm.
IPS / IGP: 95> Z-4-1 £ M4 x 20 Z 4 B9 DEMA. HFEMHMIT MLD 240Ncm,

Included in delivery:
IP: Per unit 3 pcs of clamp Z-3-31 and screw M4 x 10, permitted tigthening torque 120 Ncm
IPS / IGP: Per unit 4 pcs of clamp Z-4-1 and screw M4 x 20, permitted tigthening torque 240 Ncm

GP: ¥7RY VD 3 DO M4 TEE. RZDERZ(F 10mm,
Fixed with 3 threaded holes M4 in the gearbox. Lenght of thread 10 mm.

we—-7>R- ISR

T 355-0311

BHEREREVN &S 2452-5
E-mail : NovotechnikJP@b-plus-kk.jp
T621B10Aj 2021.11.30

WE— - 7> R - TS X3 novotechnik HDIEFRBANRIEETY.

Page 2



